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 The second factor is formed by writing the ‘Avogadro number,

d 1 mole of copper in the

6.02 X 1023 atoms, in the numerator an
denominator.

; 23
0.079 mole Cu X .02 X 10 . StomMs . 4 94 % 1022 atoms Cu

1 mole -Cu

gy

02X 10~%
1 mole Cu

X 1 molé Cu X6
63:5 g Cu

- atoms Cu

PRACTICE PROBLEMS

Solve each of the following problems. In the ‘space below each
problem, show a labeled set -up. Do any necessary arithmetic
and write your answers in the spaces at the right.

a. What is the mass of 1.75 moles of zinc atoms? - 8

b. How many moles of atoms are there in 42.0 grams b.

of aluminum?

c. What is the mass of 0.675 mole of copper atoms? c.
»

.

d. How many atoms are there in 1.50 moles of
carbon?
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e. How many moles of atoms are there in 7.50 X 102

atoms of iron?

“nitgogen?

- How many atoms are there in 18.0 grams of
silicon?

h. What is the mass of 6.25 X 1020 atoms of lead?

i. How many atoms are there in 1.35 X 1072 mole
-~ of neon?

2
j. What is the mass of 8.55 X ‘IO_3 mole of silver?




